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DIPLOMA IN MEAT TECHNOLOGY (DMT)

Term-End Examination

June, 2016 00184
BPVI-027 : UTILIZATION OF ANIMAL l
BY-PRODUCTS
Time : 2 hours Maximum Marks : 50

Note : Attempt any five questions. Question No. 1 is
compulsory. All questions carry equal marks.

1. (a) Fillin the blanks (any five) : 1x5=5

(i) Skin from large animal is called as

PR S

@ is the process of
! conversion of skin into leather.

(i) Waste water and solid from
processing plant is known as

(iv) Lard is a fat obtained from

v - is a tank wherein

fermentation of waste material causes
production of gas.

(vi) ____is a casing prepared from
Oesophagus of cattle.
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(b) State whether following statements are true

or false (any five) : 1x5=5

(i) BOD stands for Biological Oxygen
Demand.

(i) Horn and hooves are hatchery by -
products.

(iii) Fresh bone obtained from a
slaughtered animal is called as green
bone.

(iv) Ghee is obtained from bone.

(v) Insulin is produced by pituitary
gland.

(vi) Submucosa layer of intestine is used
as casing.

2. (a) Write about the benefits of utilization of 5
animal by-products.
(b) List primary by-products obtained from 3
slaughter-house.

() How are animal by-products classified ? 2

3. (a) What is meant by ‘rendering’ ? 1

(b) Differentiate dry rendering and wet 3
rendering.

(c)  Write the name and use of three important 3
equipments used in by-product processing
plant. :

(d) What points should be considered before 3
setting up a by-product processing plant ?

4. (a) Write the steps of preparation of casing. 5
(b) What are the applications of poultry 2
industry by-products ?
(c) Give a flow-chart for preparing feather 3
meal.
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5. (a) |

(b)
(©
(d)
6. (a)
(b)
(©)
7. (a)
(b)
(©
8.

(@)
(b)
(c)
(d)
(e)
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How the glands should be collected from
slaughtered animals ?

Name three pharmaceutical products that
can be produced from organs/ glands from
slaughtered animals.

What are the uses of glue and gelatin ?

Write the industrial uses of animal blood.

Why treatment of effluent from slaughter -
house is important ?

Briefly describe the steps of effluent
treatment.

Define BODg,

What are the components of a biogas
plant ?

What is the underlying principle for biogas
production ?

‘Paunch’ and intestinal contents can be
effectively used for animal feed. - Justify.

Write short notes on the following. (any four) :
Blood meal 212x4=10

Compost manure

Tanning

Utilization of fallen animals
Bone meal
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1. (a) foaA # 9 wifoe (e at=r) 1x5¥5

) RugHF TS (FTH___
wEar ¥

@ ___ uw(I9H) wams A
qfEfda w0 & 9w R

(i) TEHERO WO ¥ SO SRR W iR
3 Feem ¥

(iv) T, ] W B A
?

g ot ¥, el erafite were
% foroam @ fw o= &

i) T = dEne 9 ffHa
g &)

v)
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() =i f& Frafafas wom wdt € @1 Tom

(i uf=r) - 1x5=5

() SN | aWE N Ao T d R}

(i) E R T wpen (FE) 9 ¥

(i) =Y foru 9y = a0 Sy o eifey
FHEA &

(iv) ¥, 3Tfeer @ wrw drar ¥

(v) sgfer, drgw o grr A &

(vi) oifd ! =R Wa 1 ¥4 Hen ¥
w9 H ey s @

2. (a) YSU-IORI FIENFEEE FIRGfafgu; 5

(b) UY TUA § W WAfAF IU-SART g 3
TR '

(c) Y Y-SRI F T HY A s €2 2

3. (a) ‘4R’ (rendering) ¥ 319 T THF ¥ ? 1
(b) = TR 3R TE RO F TR Y W H |
(c) Y-SR FEHER FaF § YgF o1 eyl

YN & T R T 3T F R H feafaw |
(d) SU-SURE THE 9O H WO Q w fF 3
fagsil = fo=m foran s =nfew 2
4. (a) HfEn fmfo F =7+ fafa 5
(b) FIFE JAN I9-IARI F ST 1 E? 2
(c) TETHA S 1 Teal-a1e ST 3
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5. (a) oY fou uxed # ufud ) %9 b e 2

ST =T ?
(b) a9 forg aged & o/ /ufeli @ fifife fFe s 3
T o o fafredts w@ sty sy sane)
% AW fafem
(c) & (glue) 3R AT F =i a7 &2 3
(d) Y FR F sienfie swan w fafag) 2
6. (a) UY-TUWEN H I9H AEHE F Iq9R F 3
HEEqT § 2
(b) SfE:HE TR F 0N & G&Y H v FAf| 6
(c) .3l = wfenfim wifsm ) 1
7. (@) IO TEAFEEEHEIAQE? 2
(b) =T Fret ¥ fagia w1 sy I 2 3

(c) T (3MAWR) iR aTidta W w 3w Uy
=R & oyt 0 ¥ ffan i wwa # - e
Eaisidl

8. HaWH fe ur W e fafau 2V2x4=10
(a) ® R | a1 HQI5H (i)
(b) FHERR TR
(c) =emym (¥fHm)
(d) 9 9 = SEm
(e) 31t {5 i (Sfte)
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